Flutterby Heart by Marilee Rockley

Easy pattern using 1 shuttle and a ball. The butterfly with antennae is made first,
and then round 2 is added. In size 10 thread the finished motif measures 2.25
inches (5.8 cm) wide; in size 20 it’s 1.75 inches (4.5 cm) wide.

Butterfly: start at top ring.
R 8-4.RW.

Ch10-1.RW.

Large R12-10- 2. Do not RW.
LargeR2+10-4-6-2 (tolast
picot of previous ring).
LargeR2+6-4-10-2 (tolast
picot of previous ring).

Large R2 + 10 - 12 (to last picot of previous ring). RW.

Ch 1 + 10 (joining to picot of adjacent chain). RW.

R 4 - 8. Tip: to hide ends without sewing, tat this ring as a single shuttle split ring. Cut threads.

Round 2:

L) between the antenna and first large ring.

Ch2-2-2-2+2-
2 - 2 (to picot of
top ring). Ll to
picot of large ring.
RW.

R2-2-2-2.RW.
Ch2-2-2-2-2-2.LUtocenter picot of
previous ring. RW.

R2-2-2-2.RW.
Ch2-2-2-2-2-2.LUtocenter picot of
previous ring. RW.

R2-2+2-2(to nearest picot of next large
ring). RW.

Ch2-2-2-2-2-2.Ltosame picot
previously joined. Do not RW.

Ch 2 - 2. LJ to next picot of same large ring.
RW. Switch threads with Shoelace Trick.
Tail: Ch7-2. RW.R 4 -4.RW. Ch 2 + 7 (to picot of previous chain). LJ to nearest picot of next large ring. RW.

Ch 2 - 2. LJ to next picot of same large ring. RW.

R2-2-2-2.RW.

Ch2-2-2-2-2-2.LJtocenter picot of previous ring. RW.

R2-2-2-2.RW.

Ch2-2-2-2-2-2.LJtocenter picot of previous ring. RW.

R2-2+2-2(to picot of large ring). RW.

Ch2-2-2-2-2-2.LJtosame picot of large ring previously joined. Do not RW.

Ch2-2-2+2-2-2-2(to picot of top ring, keeping the ball thread at top of work). LJ between last large ring and chain
of butterfly. Tie, hide ends, and cut.
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